Avnn '‘vin'vy

T9I1'n7 XIan — 8 'on Nn'a 7'aan

;72000 |1 wA7 W' XD WD DY TR YY'NINT 'RTD .AIpn DN X aTiawn | °

7'22N0 |NN97 nwaY > Iwn 0y TN NN7 'R .M NIFN% X ATIavN [INNDS

NINT NITIAY .|I'¥2 QY9 NN NIMIT NITIAY 112y .TA7 7272100 DX 1IN97 1Y TNX 75 7aX
JMIT NITIAYN A% ATIAYN DR YWY M N2 A X7.0 T 7

NIrY9 3 nnma L1
f(X)=x>+4x" +x-2 (i)
g(x)=xsinx+4 (i)
h(x) =2xIn(| x|)+8cosx—6 (iii)
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D90 NYITY 7 D'WIIWA DX INXND .2
D90 NYWITYW 7 DMIon K70 0'71202'KN IRENNTAN DK INXND .2

NINAN NITIPO INXR NI7APNINY NIYNN DX D719 INK n71Y9 nfaon .2
y =X/ L+ x/ L+ x/ 1+ x/(1+x))))

“op(op(op(op(op(y, 2),1),1),2),2)
y=1/b+b/c+c/a

“op(op(op(y, 3),2),2)
.nops({op(op({a*b,b*c,c*a},2),1), op(op({a*b,b*c,c*a},3),2)}) .2

NINAN NITIRON 7W NX¥INN NXXIN DX N1on .3
X=1:

nops({l..lo, x—2..10, X2 —3*x+1..1o})
X=2:
nops({l..lo, X —2..10, X’ —3*x+1..10})
X:=3:
nops({l..lo, X —2..10, X? —3*x+1..10})

NNION 7w omam/omropgn 7w DDIYN NN IR NIM) D NXRIkvn 4
f(x) +(sin(x) = x)* - 20

(x—0.3)°+.01 (x—.9)’+.04
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